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5. W@ (TATS A ©fF 5o 1<t | @ was going ® going
@ Faults are unfair where love is fair. se. Time flies very fast. (Exclamatory)
© Faults are thick where love is thin. © How time does fly!
® Faults are counted where there is no love. @ How time do fly!
® Faults are many where love is little. & How time flies!
y Oft R o GoF et it @ How time fly!
@ Do you know where does he live? sv, Everybody accepts this. (Interrogative)
@ Do you know where does he lives? @ Nobody rejects this.
@ Do you know where he lives? @ Does everybody accept this?
® Do you know where he live? @ Who does not accept this?
. e M TCS AA? ® Who accepts this?
& Today will rain. sa. We will explain why we want to do it. (Passive)
@ It should be raining today. & The reason want to do that will be explained by us.
@ It may rain today. @ All the reasons we explain be explained by us.
®@ Today is raining. &) Why we want to be glo vyould be ex_plained by us.
8. What is the antonym of ‘transparent’? © Why we want to do it will be explained by us.
® Transform @ Lubricant 5. What is the meaning of the phrase ‘a man of letters’?
@ Pure © Hazy @A d_ull-headed person @ A scholar
¢. The synonym of ‘Prestige’ is- @ A big gun @ A wealthy person
© status @ state s». We work hard to earn money. (Compound)
@ prestigious ®) static @ Werwork hard to earn a lot of money.
v, What is the antonym of ‘antagonistic’? @ We work hard so that we earmn money.
® Unfriendly @ Friendly (H We work hard so that we can earn money.
; o We work hard and we want to earn money
() Hostile ® Trivial o '
a.  What is the adjective of ‘Land’? A ‘@I)?oagr?]%x:l;;rrr?eiﬁ?:é
Laudable Laudful . .
C?) Laudy % Lauded @ to flourish something
. . o @ to forward something
v glg;tp‘uslgr‘e verb form of P(:’DPI;‘;:E‘I%)’/ ® to set up something new
@ Population © Popularize s, Itis high time you — a business.
v s s & starts @ start
5. Nokl)llr_l t('jorm of ‘blind’ is- inl @ started @ can start
C;) blilrr:dness % bl:zdyy 2. Navid told Sumon that he (go) to Khulna the next day.
i o @ went @ had gone
so. | WI|! not go out if it- _ @ will go © would go
% irglrrgalinin g):/?/:)nusld be rainin Q0. ‘Bolt from the blue’ means-
g g & a danger will warning
3. One of the boys — absent yest_erday. @ a danger without warning
© was @s @ hard danger
@ were @ are ® powerful danger
5%. She talked as though she — the CEO of that company. 38. Adjective form of ‘ambition’ is-
% ;’1‘:1; g x\;%rebeen @ ambitive ® ambitionally
@) ambigious © ambitious
so. You haﬂ l()jektjter (to go) thhere. s¢. Heis a liar, — ?
@ \;ou had beger gon(i ;here. @ does he © isn’t he
Cé)You haOI better we?h ere. @ is he ® aren’t he
® You had better wil Séet'here. e, Jrefer R Mo e (< fret R o s Tz
. @ TS O Srgee
s8. I@saw him (go) there. . @) TS @ face
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& Successful Development Goals
@ Successive Development Goals
@ Sustainable Development Goals
@ Sustantial Development Goals
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